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Cuadro 5 (continuación 5)/Table 5 (continued 5)
Chile: tablas abreviadas de mortalidada

 Chile: abridged life tables 
a

2000

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.010 0.010  100 000  1 029  99 144 0.989 b 7 360 672 73.6
1 4 0.001 0.003  98 971   265  395 258 0.997 c 7 261 528 73.4
5 5 0.000 0.002  98 707   215  492 995 0.998 6 866 270 69.6

10 5 0.000 0.002  98 491   244  491 846 0.997 6 373 276 64.7
15 5 0.001 0.004  98 247   390  490 262 0.995 5 881 430 59.9
20 5 0.001 0.006  97 857   621  487 733 0.993 5 391 168 55.1
25 5 0.002 0.008  97 236   746  484 315 0.992 4 903 434 50.4
30 5 0.002 0.008  96 490   812  480 419 0.991 4 419 120 45.8
35 5 0.002 0.010  95 678   973  475 957 0.988 3 938 700 41.2
40 5 0.003 0.014  94 705  1 329  470 202 0.983 3 462 744 36.6
45 5 0.004 0.021  93 376  1 956  461 989 0.973 2 992 542 32.0
50 5 0.007 0.032  91 420  2 944  449 737 0.959 2 530 553 27.7
55 5 0.010 0.050  88 475  4 408  431 356 0.937 2 080 815 23.5
60 5 0.016 0.077  84 067  6 460  404 186 0.904 1 649 459 19.6
65 5 0.025 0.118  77 607  9 120  365 235 0.854 1 245 274 16.0
70 5 0.039 0.177  68 487  12 136  312 093 0.785  880 039 12.8
75 5 0.060 0.262  56 350  14 739  244 906 0.691  567 946 10.1
80 5 0.092 0.374  41 612  15 572  169 129 0.572  323 041 7.8
85 5 0.140 0.513  26 040  13 351  96 821 0.438  153 912 5.9
90 5 0.209 0.664  12 689  8 423  42 386 0.301  57 092 4.5
95 5 0.306 0.803  4 266  3 423  12 770 0.132 d  14 705 3.4

100 ω 0.435 1.000   842   842  1 935  1 935 2.3
Mujeres/Females

0 1 0.008 0.008  100 000   836  99 308 0.991 b 7 964 416 79.6
1 4 0.000 0.002  99 164   193  396 200 0.998 c 7 865 108 79.3
5 5 0.000 0.001  98 971   148  494 485 0.999 7 468 908 75.5

10 5 0.000 0.001  98 823   130  493 790 0.999 6 974 424 70.6
15 5 0.000 0.002  98 693   153  493 082 0.998 6 480 634 65.7
20 5 0.000 0.002  98 540   191  492 223 0.998 5 987 552 60.8
25 5 0.000 0.002  98 349   224  491 187 0.997 5 495 329 55.9
30 5 0.001 0.003  98 125   299  489 881 0.996 5 004 143 51.0
35 5 0.001 0.004  97 827   440  488 035 0.994 4 514 262 46.1
40 5 0.001 0.007  97 387   683  485 229 0.991 4 026 227 41.3
45 5 0.002 0.011  96 704  1 079  480 824 0.985 3 540 997 36.6
50 5 0.004 0.018  95 625  1 712  473 845 0.977 3 060 173 32.0
55 5 0.006 0.029  93 913  2 701  462 813 0.963 2 586 327 27.5
60 5 0.009 0.046  91 212  4 204  445 551 0.941 2 123 515 23.3
65 5 0.015 0.073  87 008  6 391  419 063 0.906 1 677 964 19.3
70 5 0.025 0.117  80 617  9 407  379 567 0.853 1 258 901 15.6
75 5 0.040 0.181  71 210  12 918  323 755 0.776  879 334 12.3
80 5 0.064 0.276  58 292  16 086  251 245 0.671  555 578 9.5
85 5 0.101 0.403  42 206  17 002  168 524 0.539  304 333 7.2
90 5 0.158 0.557  25 204  14 051  90 891 0.394  135 809 5.4
95 5 0.240 0.715  11 153  7 975  35 826 0.202 d  44 918 4.0

100 ω 0.349 1.000  3 177  3 177  9 092  9 092 2.9

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


